HDC P:/n\UTH

IE fi2 3R 58: NET, B-n0F , £ AH

2023 4 4 A 9 B(EAER) B T #0%I BR: 8L HDCP_ER: 36
BELR—IL:
AR E HE A BHE 21/
JEA it 4 OUT IN [ GROSS HDCP NET ES
EE B BE 40 45 85 190 660
EERH B BxR 42 47 89 184 706 E
3L B =ER 43 41 84 119 721 E BGE
At WIE E2 43 43 86 134 726 E
561 AR EF 42 43 85 117 733 &
6L £k BF 43 48 91 173 737
L Him 1EER 44 48 92 175 745
8 AR £ER 44 45 89 144 746
oL Kk & 46 51 97 219 751
106 EA BBE 47 41 88 125 755 E
1141 428 FHEA 49 44 93 173 757
12061 2B FEi 46 43 89 132 758
136 Fig B{C 44 51 95 192 758
1461 FER XF 46 46 92 161 759
1561 €H F— 47 44 91 150  76.0
1660 A A= 45 47 92 157 763
1741 [RH IEF] 44 48 92 156 76.4
186z EH B 42 47 89 124 76.6
1947 PHUEF =ER 44 45 89  12.1 76.9
2041 [EFT RF 45 45 90 131 769 E
2141 %k BE 46 47 93 157 713
2243 LA A 48 46 94 165 775
231 tE S 49 47 96 173 787
24451 SI[E] FH— 53 48 101 209  80.1
2500 =¥ KRB 55 52 107 265 805
260 L3 F 49 49 98 17.3  80.7
2761 AR BT 54 49 103 223 807
2841 HIL RIlE 50 49 99 180 810
2043 LA #z 52 51 103 217 813
306 BF RER 50 49 99 173 817 &
3L A EWA 48 53 101 190 820
3261 AR —k 46 54 100 170 830
334 FAIER EAK 53 54 107 240 830
344 LEE ST 50 46 96 123 837
356 R KX 50 52 102 180 840
6L KK A 50 52 102 173 847
3L AF & 54 52 106 213 847
384 JLH FE: 52 53 105 200 850
394 [WH ZHif 52 47 99 134 856
4061 AR BhA= 56 50 106 202 858 &
ML B3R AKX 53 48 101 150  86.0
241 F)Il REL 47 58 105 190 86.0
431 Al REA| 50 51 101 138 872
4461 %5 =B 57 57 114 255 885
450 Fig H 54 52 106 171 889
464 FK F 55 51 106 165 895
47060 TR X =i 53 62 115 244  90.6
4841 R B 57 64 121 300 910
4961 B FE 53 63 116 240 920 BBE
501 IR EH 50 64 123 282 9438




